
 

 

1ο Γυμνάσιο Κιλκίς                                    Μαθηματικός - Ιωαννίδης Ιωάννης  

ΛΥΣΕΙΣ ΤΩΝ ΕΠΑΝΑΛΗΠΤΙΚΩΝ ΑΣΚΗΣΕΩΝ της Β΄ ΤΑΞΗΣ ΓΥΜΝΑΣΙΟΥ     Φ1 

 

Α)  1) x=2       2) x=-1       3) x=6/7 

 

B)  1) x=-1 

      2) x=-1 

      3) x=1/2 

      4) 0x=-4 αδύνατη 

      5) x=1 

      6) x=3/2 

      7) x=2 

      8) x=34/9 

   9) 0x=-9 αδύνατη 

   10) 0x=23 αδύνατη 

       11) 0x=0  ταυτότητα 

     12) 0x=0  ταυτότητα 

 

 

Λύση της εξίσωσης 5):  
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xx x x−− − +
− = −                  ΕΚΠ=20 

( ) ( ) ( ) ( )5 3 5 4 2 4 10 3 2 4 3x x x x− −  − = − − +  

( ) ( ) ( ) ( )5 3 5 8 4 10 3 2 4 3x x x x− − − = − − +  

15 25 32 8 10 30 8 6x x x x− − + = − − −  

15 8 10 8 30 6 25 32x x x x+ − + = − − + +  
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